F4(2022) £ W R AT T RSB AR 7y R — LB B R - SRR Ly (BB s SAS R BASH OIE A, (HAeS, ciE e PR
AE B A

20 | e | = 5H = 68 | & = 7H g 8 Bl ESEAE on
Eh ¢l G <]
o] o HEEITE | ERITES = | B " IEENITE | 2RITES = | ] i IEEITE | ERITES = | | SREENTE | ERTESE = | = IEENTE | ERITES = | HEEITE | ERITES
B -3 BS =] PN A - BS =] A £ BS A
il g il fél N i N [
= =
ES wesraxmazafl 1 | B 7K HHELGAEEC) £ e e | K [HES
+ 2 | A g LEZH R 2 EES 2 | £
H 3 [ #H EERSA % H 3 I 3 [ £
A zw-zamae]] 4 [# #EYDA + A 12aEEE] 4 4| H
PR wx-gratae][ 5 [ _ELMAE =] PR mzasumsn) | 5 5 | B
7K BEXE 6 | & A K KEE B 6 6 | X
& 7 X S 7 7K
ES sz wexmzs] [ 8 [ B 7K ES H K RELE T 8 HEE e 1B ES
+ A g z20#5606 9 | £ 9 | £
H PR = zsonsFaa] [ 10| A EH K [ 1] 10| £
A BETAN BiEE K + 11| A 11| 3
K HER- WS BE X E] 12K ERBER 12| A
K FEEER % Al 2 13| K 13 &
x EUEDES Ed *] 2 sy | A ES 14 [ 5k . T
= EHRD BHEES B x12 EraIlBE EH E = AR R ES
+ A PTARZ K |2 e | lAES || ] HES PBE SR
=] X ERHER o snpmsenzse] | 17 | B H K 1 17+
A HEEARQD K 1h X i (PM), + 18 | 1 BOR H AL LEE0.25)
K EHEHG X EEOHSEARRS 5] 19K ISE R {58 & b ®mENE
7K PTAFTEE S ES PTAEFIENS A 20 [ K @ 507 sl + Pq
x RO MASH x Pq 21| K 21| B K ]
= H K Al K EH 22| A S EEIREPM
E3 | A | X BEss (123 £ 23 | K o " DH
B £ EmaigEl 1 24 | B I 1 I 1] 24| 5k B%R RETAF T ADROTATATIARE
A EEOHLITAES Ed 25| A 25| K HTRD B
K EBEBEAS Z] 26 | X srmmpa—e | [ 26 [ & A | ] ]
K W EEBROD) A 27| K S X
X EFHEEAR T Pq 28 | K =] K
7 WAFIO H ETAB S 7K ISERIEE (|29 £ —ARBRAZFE) A A
ES [ 2 | X 1mgmrEa] | 30 [ £ [ 2 | K &
31| H 7K EER
EHE S EHE S EST EHE EE
EHREHTTS 3 HHEREHTTO 9 EEHREHTTS 8 FEEHRKEEHT S 5 EHWEHD T 16 FEHKEHT 8 4
KREKREH: 5 6 KEREH: 5 6 KEREH: 5 6 KEKREH: 6 5 KEREH: 5 8 REREH S 70
FREBHEMTY: 2.1 2.1 TREBBMTY: 20 2.0 TREDBMTS: 1.9 2.1 TREBRMTS: 1.9 1.9 FREDBMTY] 2.0 2.0 TREDRMTSE] 20 2.0
KEEMEMTY] 2.4 2.0 REEDHMTYE 2.6 2.3 KEEDEMTYE 2.0 2.0 REEDEMTYE 2.0 2.0 *hBZEDEETY] 2.0 #DIV/0! RAZEDEMTEY: 2.0 #DIV/0!
108 | 5tE | =& |8 11A | 58 | =& |8 128 | 5tE | =& |8 1A | E | =& |8 2R | #HE | =& |8 3R | #E | = |8
< <l E <l Eh
N P e e e N [®ls|2 5| sanns | snnss N S RS e e e I R M e B e e I M M e e B I P Y e B e B
S P P A S B - A SN P 1 A S B Bl A B e | E e | 22 B L | 2 [ |22 FRREA
B Bl|= A Bl= =] BI= A Bl= 2] Bl= 2] Bl=
[HES 1 1 BN | 1] X 1 T | IR E 1 H [HER 1 AEE (R 7 1 RIGERH Be EHE
2 8 1 1 2 | K 2 | & 1 2 | 1 REARB X 1 HEAS K 1 RS X BRHE
B K [ 1] AEl K | 3 [l EE | [ = et B K ZERX 94
4 [ 1 1 o 2xurmzz|] 4 [ £ [ 1] 4| H 1 II 4 [ k]2 4 [£]2 +
5 [k 1 1 rerazsz]| 5 [ £ [ 1] 5 [A]2 B 5 | A 2 5 [ H 1 =] ESH
6 [ K] 2 1 6| H [ 1] 6 | k]2 HE E 1 wez garacjl 6 | B2 3EERA JZ] NEER
7% 1 1 srarsd | 7 1B gRE 7 k]2 7 £]2 7 x| 2 EEARHNESH P —BAE 82
s [x£]2 1 o Bxiiam| | 8 | & [ 1] AEIE +oyrases|l 8 [ B 1 8 [ k]2 s EERH K AR R D)
9 | H 1 1 \ 7K spagazzed) | 9 | & 1 et | IEREA B RADB 9 | K| 2 FREREES A REREH |
10[#] 2 1 AR—YDH X [ 1] EpEa 0] £] 2 10 k]2 e MES 1 & EEKE ETE
11 x| 1 He = [ 1| 118 1 11| k|2 e | EEA B EERS0OH *
12 K] 2 2 RBREHEEE T [ 1] 121 A2 BERmEall 12l K] 2 12| B 1 =] —RAEERE] 67
13] K] 2 1 BH [ 1] 13] k] 2 Erta s | ERES 1 13| B2 ERXBER A p AENBEEFER)
14 | & 1 1 A= EiEmEl JZ] 14| K12 seperasEz] | 14 £ 2 O EFFAKRE 14| X 1 EELHTERE Pq Ed
5] £]2 1 PY [ 1] 15 K] 2 o 3R] 15[ B 1 O EFAXE 15 [ K 1 H2EPTAAR, 7K ERGES
E 1 1 ] 16| & 1 6] A]2 16 | & 1 SRRETRRAE & 62
171 A2 2 X [ 1] 17]£]2 17 X2 17] £ 1 ES ARHEREBERE
18] k]2 1 e GRS ERRN & [ 1] 18] B 1 18 [ k]2 EipEsll s £ 1 +
19| K] 2 2 + [ 1] 191 A]2 SERIA 19 K] 2 19] 8 1 =] RED Do
20| K] 2 1 Rl iR =] [ 1] 20| k]2 -t | I ES 1 ERERE]] 20 | A 1 BERE A R T A1 -2%) EHE
21| & 1 1 RIRO — SR B 21 ] K] 2 iR 21 [ £] 2 vy o) [ 21 | K 1 o FEXES b E520DH
22| £] 2 1 PR [ 1] 22| A2 wezsnazs| | 22| B 1 22 | K 1 HER=3| K PEpmp— 161
23| H 1 1 il [ 1] 23| & 1 wEKOJ123] A] 2 23| % 1 XEHEER X HERRR ST
2| B2 2 e PR RS EEOR) [ 1] 24| £ 2 R Een | IAPA B BESE 24| & 1 ES ERES EES Ei&
25 [ k]2 1 BESE £ [ 1] 25| B 1 25 K] 2 e a0 | A ES 1 +
26| k]2 2 ES [ 1] 26| B2 26 | A] 2 26| H 1 [=] 144
21| K| 2 1 H [ 1] PA E 27| & 1 y cazaxzs|l 27| A| 2 V zseuaz A FAEHAE PW)
28| & 1 1 R T R 25) ] [ 1] 28| k| 2 28| ]2 28| w2 o7 S RH—RBED g
29[ £]2 1 Pq [ 1] 29 | & 1 =] 29| B 1 K IR
308 1 1 7K N ES 1 =] 30[8]2 ], K
31| A]2 2 B 31| £ 1 3t k]2 e RS
............... AT =0 BT ] E] £ AT =0 U] e =0
FHIREE: T 14 FHKEE 8 13 FEHIKEH T 0 FHAEREH S 0 EEHKEH! 12 0 FHKED: 15 0
WEHIREE 6 i WHIREH 8 i0 WHIREH! 6 0 WHIREH 6 0 WHIREH 7 0 WHREH S g
FREBEMTEY: 20 20 FEEDEMTEY! 2.0 20 FREBEMTY: 20 #DIV/0! FREBEMEY: 20 #DIV/0! FREBHEMTY: 20 #DIV/0! FREBEMTEY: 20 #DIV/0!
REEDEMTEYE 2.0 #DIV/0! kBEMEMEYE 2.0 #DIV/0! *hBEEHEMTEY] 20 #DIV/0! hBEBEMTEYE 2.0 #DIV/0! hEEWEMEYE 20 #DIV/0! KREEBEMTEYE 2.0 #DIV/0!




